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Note : Four possible cholces A,B,C,D to each question are given. Which cholce is correct, fill that circle Infront of that question
number, Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
The example of Diatomic Molecule is : e Je S JAudn 10
co, (m No, (O H,0 (B HA (AW 1)
The value of Planck's Constant is 2 ) ead S MJ{& 2)
6:63x10 %) (D) 6-63x10°°°)s (O) 6-63x10 s (B) 6+63 x 1005 (A)
Mendeleev's Periodic Table was based upon the : - U;’JL*J J*:J’!LM iy (3)
Atomic Number /-.f ¢ (B) Electronic Configuration u*/ﬂ’( _ﬂ}?l (A)
Completion of Sub - shell Lm); I(qu,/ (D)  Atomic Mass JhLH ()
Long Form of Periodic Table is constructed on the basis of : Poeald i J’:.J’JL,@JT@GJ} 4)
Mendeleev's Postulate Jr ¥ i (B) Mass Number A (A
Atomic Mass JWSE (D)  Atomic Number AL (©)
Triple Covalent Bond involves how many Electrons : o ‘cj_ oo E L f:w—:bﬂ) (5)
8 (D 6 (C) 4 (B)Only Three £ (A)
Double Covalent Bond is represented by : D gLl sadked s T (6)
— M) = © = B — (@A)
Which one of the following is not Amorphous : : 5:.;,@':/} U'i«.rﬂ lrufc..-u‘: J!i (7
Glass 2> (D) Glucose ¥ (C) Plastic B4 (B) Rubber x (A
U 17 ¥ f7 {89 S Vel (8)
Which one of the followirig will show negligible effect of Temperature on its solubility
NaCl (D) - NaNO, (C) KNO, (B) KCl (A)
Which one of the following is a 'Liquid in Solid ' Solution : : &0t u¥ ¥ kuielul| (9)
Fog 4 (D) Salt in Water .ﬁu.'dg (C) Butter * (B) Sugar in Water ):’u:&k (A)
Spontaneous Chemical Reaction takes place in : :oeba sl Kz L/ ﬂ;g,._,i;d’m,a_,,éu, 22 3 (10)
Nelson Cell Jr¥ (B) Down's Cell e siss (A
Electrolytic Cell i 3,31 (D) Galvanic Cell Jo LS (O
The Oxidation Number of Chromium in K,Cr,0, is : : ¢t/ SSTE AL L K,Cr,0, 1 (12)
+2 (@@ +6 (© +14 (B +7 (A
Which one of the following Non-Metal is Lustrous : PSP 4 St e Sitn | (12)

lodine /4T (D) Sulphur  (C) Phosphorous 236 (B) Carbon ok (A)
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Note : It is compulsory to attempt (5—5) parts each from Q.No.2, Q.No.3 and Q.No4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. U W Psnrug (Part 1) e
Define Valency and Radical. -éf:f.g/" § Lo g 0 240 |

LISOIS s ptiinn 5 /5 03} s pliia 3o 1 (1)
Differentiate between Homogeneous Mixture and Heterogeneous Mixture.

Write two differences between Atom and Ion. -é,‘{f]’ O/ sk STl rt‘ (i)
Write two properties of Canal Rays. -@;fa?r"- ¢ 2 (iv)
Define Electronic Configuration. -a_!f.yi S AYLH ()
Describe Mendeleev's Periodic Law. -E;i:jl_.« ,u..fiw ¥ il (Vi)
What is meant by Lanthanides? teip el (vi

Sl LINRALT SIS Ee oS i)

Give the reason for the decrease of Ionization Energy down the group.

Define Single Covalent Bond and give an example. -’qﬁJt‘/y_ﬁul @f._.gf’- J.'Shl.gb;aiu_,fdﬁu ()] 3/.)Jlr
What is meant by Hydrogen Bonding? T{.:!/l! = _fil.d’-u}_ﬁi, (i
fonic Compounds are Solids. Justify. ~&5S Lt L SPIIIEELT (i)
What is Diffusion of Gas? Give an example. -éﬁdl‘?.ﬂ ?q_bfg Gads ¥ u{ (iv)
Give any two units of Pressure, By JJ.';f » et A1 V)
Differentiate between a Solute and a Solvent. -z):)wu:’v s 2y (Vi)
Define Molarity. _a:,{..g} il ga (il
Give any two examples of Colloid. -4"»6& » e puf (i)
Differentiate between Oxidizing and Reducing Agents. _46"@)0;»»&%:_&;4; s E0LT () 4

_e,’“,o’uw_:_.’l,.;g-g -.é’ﬂ!ﬂ)«:—i.l?ﬁdri Lot Sfasy (i)
Define Reduction in terms of Loss or Gain of Hydrogen. Give an example also.
H=+1 s O=-2:pLés il T L0 » H LS PAFST K Paf S HNO (i)
Find Oxidation Number of Nitrogen in HN03 when the Oxidation Numbers of H = +1 and
Oxidation Number of O= -2.

Define Alloy. Also give one example. -@JJM@CQ/J § e v
Write any two physical properties of Metals. -.’:ﬁ;f ::Ea:jo‘-* » L}‘J:( S e (v)

e dnudubic GAPALTE BRI m § paslsn Vi)
Why the Second Ionization Energy of Magnesium is higher than the first one? '
Write down Melting Point and Boiling Point of Sodium Metal...’q{rf:.:&b"ﬂix i .:A'-f{.ﬁk ¥ Sy (vii)

Write two uses of Calcium. e & f.:g (wviil)
(Part 1) (oo
©) _4/5 W) L s 1 Bl eibiins () 540w

Give difference between Rutherford's Atomic Theory and Bohr's Atomic Theory.
. §
@ St gt S T o STy S § g ()

Define Chemistry. Discuss Organic and Inorganic Chemistry.

6) el § LS T e LA o ol by Sl BEET () 67N
What is an lonic Bond ? Disucss the formation of ionic Bond between Sodium and Chlorine Atoms.

@) S Lnbi g i W fg:-.aus . g{_yﬂ Ry ()
Define Evaporation and explain how it is affected by Surface Area and temperature?

(5) Write the Electrolysis of Water in detail. I S g 1S S gl (DD 7/

(4) Write anly four characteristics of Suspension. ) ,q&f_«,yﬁ}wdf lf u'*-/ ()
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Note : Four possible cholces A,B,C,D to each question are given, Which choice Is correct, fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filing two or more circles will result in zero mark In that question.

efeer L8820 & b e i | 100y

Which one of the following Halogen has lowest Electronegativity 3 C(1)

lodine /3#7T (D) Bromine £z (C) Chlorine ¥ (B) Fluorine /s# (A)

Who discovered the Proton - D S ghy & J1 @

_ Rutherford 33w (D) Neilbohr s4f (C) JJ.Thomson ¢ We—g— (B) Goldstein S (A

Which one of the following Molecule is Triatomic : : q._f EIJi)dgptlfufc.u-’-Jj&w (3)
co, ™ a, (@ o, B H (A

gz Laugy o 0g & FedTikl (@)
In the Long Form of Periodic Table, 4th and 5th Period are called

Normal Periods simt (B) Short Periods ibgat (A)
Very Long Periods imfY$s (D) Long Periods sbakd (O
One Atmospheric Pressure is equal to how many Pascals : etn 2l :"k = A¢ 1ami (5)

10523 (D) 106075 (C) 10325 (B) 101325 (A)

L e sk vz vof ¥ SALSs | (6)
Which pair of the Molecules has same type of Covalent Bonds

CZHZ and ! C'-‘z (D) C2H4 and »! CO2 (C) N2

D e Ly on Lo 7 ¢ BAVL a5k o S T el 2K KN 2] (7)
When an Electronegative Element combines with an Electropositive Element, the type of bonding is

Coordinate Covalent w3, (D) Polar Covalent why (C) Ionic £ZT (B) Covalent wshf (A)

and 41 O, (B) HCI and 4 O, (A)

Which one of the following is Heterogeneous Mixture : : &~ ,;': U U el - (8
Sugar Solution ¢+ ¢ S% (D) Milk of Magnesia 7L (O Ink Js (B) Milk  sam (A)

Which one of the following is Non- Electrolyte : c e g vl At (9)
Sulphuric Acid Solution ¢/ ¥ JA0d (B) Sugar Solution o/ ¥ S (A)

Sodium Chloride Solution /% ¥ ¥1¥£3r (D) Lime Solution /3 ¥ iz (O

The Oxidation Number of Nitrogen in HNO, is : : 4./;)"-‘3;/75’ St A HNO, (10)
+8 (D) +7 (© +6 (B) +5 (A)

b 20 € £7 ¢ iU (11)

Which one of the following will show negligible effect of temperature on its solubility

NaCl (D) l'slaNO3 © !(N03 (B) KcCl (&)

PR LES G, L F slet v (12)
Which one of the following Metal burns with a brick red flame
Calcium fsg(D) Iron s (O Magnesium nbuils (B) Sodium “ir (A)
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Note : It is compulsory to attempt (5—5) parts each from Q.No.2, QNo3 and Q.No4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

[30 = 2x15| | Make Diagram where necessary. LS Prin o (Part 1) o |
Define Industrial Chemistry and Analytical Chemistry. wIar d/“-’ﬁw S GHELEH W 24y

S LBy o & ypanSa pugian 3 Ay o3l e G g4 51 ()

How does Homogeneous Mixture differ from Heterogeneous Mixture?

Define Empirical Formula with an example. -;{/;V&db‘-‘.&’/’-’ J B:‘Jﬁgﬂ,c( (il
Write the names of two Isotopes of Hydrogen. --_{)}}’rtﬁ AP T 5 Sfudy ()
What is meant by Carbon Dating? ?ﬁ;.)I/\;Q:. Liser K (v)
Why Noble Gases are not reactive? Tg,[{amﬁ’ :".C 'L‘JU[ ,{J:’ (vl)

tethol Tud f JLEL(Cation) S5« S LN g (vl
Why Shielding Effect of Electron make Cation formation easy?
What is meant by Groups and Periods in the Periodic Table? ?q..:yl‘(:.. Y. uiu" - J‘Lﬁw (viii)
Gof e n b SRS EalyyS ) 3w

Write any two characteristics / properties of Covalent Compounds.

What is a Tripple Covalent Bond ? Give one example. Bt bl Sl danly S JiA (D
Ionic Compounds are Solid. Explain. - /:..?l.is_uzl.mj} Jiil{..ffT (til)
Define Boyle's Law. @ fSuds £ S ()
What is meant by Mobility of Gases? ?;.:yt,ﬁ;.&:*‘r g ,—:’ v)
| What do you mean by mass/mass %7 ‘i'q..JI/I[:.. % mass/ mass (vi)
Define Solution. ' Sl i)
Give any two characteristics of Colloids. _u..'{ &L‘Ij ) ;,ﬁj/ J s (vili)
Differentiate between Oxidizing and Reducing Agents. -E{S b3 penl s by ts ol LT () 440y
Define Oxidation and Reduction in terms of Electron. -/ /&/ § P ot ST e dipl P (i)
Define Electrolyte and Non - Electrolyte. L7 § eanDie e i)
Define Redox Reaction and give example. _q:dcﬂ;,!q/_y}' J L.,a'hﬁal ) uuﬂ.)s sy (V)

Why the reactivity of Metals increases down the group? Tq.G'zu;[ f!j..( IS J e J)J{._.J.rsf (v)
se PULBHRAET 1 LoD ()

What relationship exists between Electropositivity and Ionization Energy?

Write down any two uses of Magnesium Metal. ylf et s e £ S ptail (i)
Write down any four Chemical Properties of Metals. -L«f-&f- -:-—L—'r'; Jy! e § sl (viil)
(Part 1) (o '

) T b M L IS i () s/l
Write down any five results of Rutherford's Atomic Model Experiment.

(4) Write a detail note on any four kinds of Molecules. -u‘..‘g ) I.kd ; eI e AV )zgl- (o)

5) df S oy § e dyf Byt () 64U
Define Metallic Bond and also write the four properties of Metals.

@ o ¢ 38 £ S ie 2yp ()
What is meant by Vapour Pressure? Describe the effect of any three factors on it.

) s Sl 3 eonf S s Syl en { NaOHLT (D 740

How can you prepare NaOH on Commercial Scale? Discuss its chemistry alongwith the

diagram.

25 -J.i-.'r-i.r i( X T {u)



